FREOEMNZRZHICE, | £=1000cd |d2=100c,
| W=1000 2 D¥RA >~ FIZHEBATEL,

ToaEs, ( DOPOBERHTRLEL &I,

52 (en) 0.8 2 (en) 7de(cnt)
2m(4) 3.5m (L)

| 2=1000cn7=h 5,

52=5X1000=5000(cr), 0.82=0.8X1000=800(crt)

| de=|00ci7=H 5,

7de=7x100=700(c )

| =1000 2 7=h 5,

2m=2X1000=2000(2), 3.57w=3.5X1000=35000n")

Loy ek

ToaHEs, ( DOPOEETELEL &H,| THOELAE
A THh,

3000ci(2) 850cri(£)  400cn(dl)
150002 () 2800 ¢ (m)

AL E L EAIZTSI121E, 1000TH Y £9,
3000¢i=3000+1000=3(2) 850cM=850+1000=0.85(£)
cREAL L dIEAICT 5121, [00THhY 7,
400ei=400+100=4(d0)

LEMEMEAICTSI2E, 1000THY 95,

15000 £=15000+1000=15(n’)

28002 =2800+1000=2.8(n)
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